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This Problem Section is open to everyone. For each problem the most elegant correct
solution will be rewarded with a 20 Euro book token. The judges reserve the right to
withdraw the prize if none of the solutions is deemed worthy. The problems and results
can also be found on the Problem Section website www.nieuwarchief.nl/ps.

About once a year there will be a Star Problem, of which the editors do not know any
solution. Whoever first sends in a correct solution within one year will receive a prize of
100 Euro.

Both suggestions for problems and solutions can be sent to uwc@nieuwarchief.nl or
to the address given below in the left-hand corner; submission by email (in IsIEX) is
preferred. When proposing a problem, please include a complete solution, relevant
references, etc. Group contributions are welcome. Participants should repeat their
name, address, university and year of study if applicable at the beginning of each prob-
lem/solution. If you discover a problem has already been solved in the literature, please
let us know. The submission deadline for this edition is September 1, 2007.

The prizes for the Problem Section are sponsored by Optiver Derivatives Trading.

A Optiver

DERIVATIVES TRADING

Problem A (Proposed by Vietnam for the International Mathematic Olympiad)
1. Find the largest number c such that all natural numbers # satisfy nv2 — Ln\/EJ >
2. For this ¢, find all natural numbers 1 such that nv/2 — Ln\ﬁj =<

<
e

Problem B (Proposer known to the editors of NAW)
Find polynomials f(x) and g(x) such that

/x 6tdt
Jo VA —6rR2 +4r+1

=log (f(x) + g(x)V/x% + 423 — 6x2 +4x+1) .

Problem C (based on the IBM Research February 2007 Challenge)

Consider the following game with persons A and B. Player A receives a random number
uniformly distributed between 0 and 1. Player B receives two random numbers uniform-
ly distributed between 0 and 1, and chooses the highest one. Each player can then choose
to discard his number and receive a new random number between 0 and 1, in order to
get a higher number. This choice is made without knowing the other player’s number or
whether the other player chose to replace his number. The player with the highest num-
ber wins. What strategy should the players follow to ensure they will win the game?
What is the probability that person B wins the game? See also http://domino.research.
ibm.com/Comm/wwwr_ponder.nsf/challenges /February2007. html

Edition 2006/3

We received two submissions for Problem 2006/3-C. The solution can be found on the
internet page www.nieuwarchief.nl/ps/problemen-jun07-2006-3-C.pdf and will be pub-
lished in a later issue of the Problem Section.

Problem 2006/3-C Consider a triangle ABC inscribed in an ellipse. For given A the
other vertices can be adjusted to maximize the perimeter. Prove or disprove that this
maximum perimeter is independent to the position of A on the ellipse.

Solution Edition 2006/4
For Edition 2006/4 We received submissions from J. Buskes, Birgit van Dalen, Maarten
Derickx, Ruud Jeurissen, Ronald Kortram, Floor van Lamoen, Louis Maassen, H.EH.
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Reuvers, Jaap Spies, Arjen Stolk, Rohith Varma, Hendrik Verhoek, Koen Vervloesem,
Rob van der Waall.

Problem 2006/4-A  Seventeen students play in a tournament featuring three sports:
badminton, squash, and tennis. Any two students play against each other in exactly one
of the three sports. Show that there is a group of at least three students who compete
amongst themselves in one and the same sport.

Solution This problem was solved by Birgit van Dalen, Maarten Derickx, Ruud Jeurissen,
Ronald Kortram, Louis Maassen, H.EH. Reuvers, Arjen Stolk, Hendrik Verhoek, Koen
Vervloesem. The solution below is based on that of Birgit van Dalen.

Lemma Suppose that for any group of n students playing k different sports there is always a
subgroup of three students who compete amongst themselves in the same sport. We can show that
in any group of (n — 1)(k + 1) + 2 students playing k + 1 different sports there always exist a
subgroup of three students who compete amongst themselves in the same sport.

Proof To show this consider one of the (n — 1)(k + 1) + 2 students. He plays against each
of the (n — 1)(k + 1) + 1 other students in one of the k + 1 sports. Using the pigeonhole
principle, there must be a sport he plays against at least n students. If two students in
this subgroup of n students compete against each other in this same sport, we have found
the triple we were looking for. Otherwise these n students play k different sports, and by
assumption there is a subgroup of three students who compete amongst themselves in
the same sport.

Any group of three students who compete in only one sport contains a subgroup of three
students who compete amongst themselves in the same sport. Using the lemma, we
derive that any group of 2 - 2 4- 2 = 6 students who play two sports contains a subgroup
of three students who compete amongst themselves in one sport. Applying the lemma
once more, we find that a group of 5 - 3 4+ 2 = 17 students playing three sports contains
a subgroup of three students who compete amongst themselves in the same sport.

This problem establishes that the Ramsey number R;(3, 3, 3) is at most 17.

Problem 2006/4-B The sequence {4, },,>1 is defined by
a1 =1;ap =12;a3 = 204,43 = 2a,,15 + 20,41 —an (n EN).
Prove that 44,4, 11 + 1 is a square foralln € N.
Solution This problem was solved by J. Buskes, Birgit van Dalen, Maarten Derickx,
Ronald Kortram, Floor van Lamoen, Louis Maassen, H.EH. Reuvers, Jaap Spies, Arjen

Stolk, Rohith Varma, Hendrik Verhoek. The solution below is based on that of Floor van
Lamoen.

Letb, = a2 + a%_l + aﬁ_z —2(apan—1 + ana,_o + a,_1a,_7). By induction we will show
that b, = 1, or equivalently

4a,0,_ 1+ 1 =4daga,_1 + b, = a% + a%q + a%72 +2(anay 1 — anay_o — ay_1a,_2)
= (an +ay—1 — un72)21 (1)

which is clearly true for n = 2. Suppose b, = 1, so (1) holds for n = m and
daymay 1+ 1 =(am + ay_1 — ay_2)*. By the recurrence relation for {a,} we see that
Ay + Ay—1 — Ay—2 = A1 — Ay — Ay—1 SO We have

2
4amam71 +1 = (um+1 — am — ﬂmfl) ’

which is equivalent to b, 11 = 1.
Note that the recurrence for going downwards through the sequence is

ap-3 =2ay_p+ 20,1 — dn,

so that b, = 1 and (1) hold for the sequence extended in both directions, i.e., for all
integers .
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Problem 2006/4-C Let G be a finite group of order p + 1 with p an odd prime. Show that
p divides the order of Aut(G) if and only if p is a Mersenne prime, that is, of the form
2" — 1, and G is isomorphic to (Z /2)".

Solution This problem was solved by Birgit van Dalen, Ruud Jeurissen, Ronald Kortram,
Jaap Spies, Arjen Stolk, Rohith Varma, Hendrik Verhoek, Rob van der Waall. The solution
below is based on that of Birgit van Dalen.

We suppose that p is odd, and therefore |G| is even.

(1) If p divides the order of Aut (G), then p is a Mersenne prime and G is isomorphic to
(Z/2Z)".

Suppose that p divides the order of Aut (G). Then by Sylow’s Theorem Aut (G) contains
an element of order p, since p is prime. We may consider Aut (G) as a subgroup of the
permutation group S, 1. The element of order p can then be considered as a cycle of
length p. The identity element of G is mapped to itself by every element of Aut(G).
Consequently the cycle of length p contains all other elements of G. Therefore every
element of G other than the identity can be mapped onto any of the other non-identity
elements by an automorphism of G. This implies that all these elements of G must have
the same order.

Since p is odd, the order of G is even. Hence there is an element in G of order 2. But
then all elements of G have to be of order 2. The group G has to be Abelian, because
(xy)? = 1, that is, xyxy = 1, hence xy = yx. Every finite Abelian group is isomorphic to
a direct product of cyclic groups. In our case the order of any element is 2. Therefore the
cyclic groups are Z /2Z and G = (Z /2Z)" for some n. We find that the order of G is 2",
hence p = 2" — 1, which is a Mersenne prime.

(2) If p is a Mersenne prime and G = (Z /2Z )" then p divides the order of Aut (G).

We consider G as a vector space over F;,. Choose a basis for G. An automorphism of G
maps the basis onto a set of 1 linearly independent elements of G. Each map onto a set
of n linearly independent elements corresponds to one automorphism. We will construct
all the automorphisms as follows: One by one, we map each element of the basis onto a
vector that is linearly independent of the images of the prior elements. In particular, the
first element is sent to a non-zero vector. We find that the order of Aut (G) is

(2" —1)(2" —2)(2" —4)... (2" — 2" 1),

Therefore the order of Aut (G) is divisible by p = 2" — 1.

Birgit van Dalen, Rob van der Waall, and Arjen Stolk all remark that the problem was
not entirely correct since G could be the cyclic group of three elements with Aut (G) =
Z /27, whereas 2 is not a Mersenne prime.



